

A X 9 = (A X 10) – (A X 1)

A X 90 = (A X 100) – (A X 10)

A x 900 = (A x 1000) – (A x 100)
A x 99 = (A x 100 ) – ( A x 1)

A x 0,9 = (A x 1) – (A x 0,1)

A x 11 = (A x 10) + (A x 1)

A x 110 = (A x 100 ) + (A x 10)

A x 1,1 = (A x 1) + (A x 0,1)

A x 5 = (A x 10) : 2                                         A : 5 = (A : 10) x 2

A x 50 = (A x 100) : 2


  A : 50 = (A : 100 ) x 2

A x 500 = (A x 1000) : 2                                 A : 500 = (5A : 1000) x 2

A x 0,5 = (A : 2)                                              A : 0,5 = (A x 2)

A x 25 = (A x 100) : 4                                     A : 25 = (A : 100) x 4
A x 2,5 = (A x 10) : 4                                      A : 2,5 = (A : 10) x 4
A x 0,25 = (A : 4)                                            A : 0,25 = (A x 4)
A x 125 = (A x 1000) : 8                                 A : 125 = (A : 1000) x 8
A x 12,5 = (A x 100) : 8                                  A : 12,5 = (A : 100) x 8
A x 1,25 = (A x 10) : 8                                    A : 1,25 =(A : 10) x 8
RAPPEL

                  :2                      : 2

:4 = 




:8 =          :2                          :2                        :2

:6 =              :3                          :2



:4 = 
:2                       :2

:8 =          :2                  :2                        :2

:6 =              :3                   :2

Petite astuce pour diviser





Synthèse générale des procédés





























